1.3 Powers and Scientific Notation.notebook February 18, 2024

Solutions

Page 22 #s 2, 4abhik, 5bc, 6aceg, 7bdfh,
12acf, 15abhi, 17cd, 20, 23ac, 24bc

2. Which is greater, 3* or 4°? Explain.

SLF = Ax3x3x3
— %\

L{_% = L(_K((-XL}_
= LY

— 7 is oreedes thon 4
bews’e Sl > 64
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4, Evaluate.

) #+5 b 23°-3  h) -2° (-2 0 (3-2)

o) 4 +st Ry 2% K <?>1~ 2“‘52
= 16425 =-(06)  _ /. A
= ¢ -6 <Cﬁ )ib

D@y o D

=2 (-1 7

S4- 2
= 45

\\

5. Continue the pattern to fill in each box. Use fractions to express values that are less than 1.

b) 2* =16 c) 3* =81
2* =8 3 =27

22 =4 3*=9
2'=|>2 3 =3
2" = | 3=
2=~ 3= 4
27 =Y 3=/

As He exporest reduces by orR
ivide e prRVIoUS ansnes by He éo&
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6. Evaluate.

a) 7' ) (~16) e) Ig| 0 0

= F = ~1§ | = O

7. Ewvaluate. Use fractions to express values that are less than 1.

b) 57 n 2’ h) 3

by S° ot) €)o7 Ry3e

- (&) (&) <-> <>

— IL _ IZ _ } B
5* ECI ’3’?
= L = = I = |
25 4 2 20
A?/fefnm‘;ve ok ond AR base Ao ‘Sjo;jf
arR

of fhe POSITIVE Q)o‘aor?c\‘f' ord. fhen
Me (eciploced of thol anSer/
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12. Express each of the following as a power of 5.

a) 5 c) 125 f) —

125

O\>5
|

=5

b) 125
= SxSxS
= S?

[
£) T
_ |

—

Sx S xS
l

—  —

[25

15. Evaluate.

a) 1P b) (-1

O))g
= | XIX] —~

l

)
= Coxéoxﬁb
oy

—

\

hy -1 i -1

\
feClF('OC@L
of [ =1
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17. Express without negative exponents.

c> Oq d_

C_> - (%)

= 1—
+ A
C.

20. Alpha particles are emitted when radioactive Plutonium-239 decays. The mass of an alpha
particle is 6.645x10~* kilograms. Express this mass in standard notation.

é@%x)d@,\
Secivel f/GCe
~oves 28 GDI“CQS
to Ae left

= puell | calk i+ onthe bonad !
Nt & 'fr‘ieﬂdb 7‘/\6’/30’\

Houwrwrws = O. 53 serss B64S
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23. Express each of the following values in standard notation.

a) 8x10° ¢) 6.54x107
S
O\) E X 10 ,\
o\ecimflcce
~moves S IQCQY

’)—(-) H‘*& F;ﬁl«\t
— 8 0000

C> L SYx 16}\

/

03, e
Moves R places

fe lefC
= O.006SY

O\QC; N\O\I

24. Express each of the following values in scientific notation.

b) 0.000000007  ¢) —65200000

b) ©_coraoos

~_

3 flaCQS

-9
= 7 XI0O
c} — £S200000

r ploces

— — £.5D X Io}
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